Algebra 1
w4D3

Solve each inequality and graph its solution.

D -18>~ —17
15

3) —7<10v-7

2 -1 0 1 2 3 4 5 6 7 8

5) 15<p-6p

9 -8 -7 -6 -5 -4 -3 2 -1 0 1

7 3>n-3+5n

-6 -5 4 -3 -2 -1 0 1 2 3 4

9) 6(2x—2)<23+7x

11) 24 —4n>-4(n—6)

4 5 6 7 8 9 10 11 12 13 14

13) —9n—5n<5(n+3)-3(3 + 7n)

-3 -2 -1 0 1 2 3 4 5 6 7

15) 53n+1)+7n=11n+8(n—>5)

2% 30 31 32 33 34 35 36 37 38 3

6) 8> —4m—4m

-4 -3 -2 -1 0 1 2 3 4 5 8

8) -9<3n-6n

-5 4 3 2 -1 0 1 2 3 4 35

10) 6(x — 6) < —36 + 6x

o 1 2 3 4 5 6 7 &8 9 10

12) —40 — 8x > —8(7x— 1)

-2 -1t 0 1 2 3 4 5 6 T 8

14) —8(~6n+10)> —2(12n+4)

6 -5 <4 3 -2 -1 0 1 2 3 4

16) —3x—2(x—10) > (2 + 7x)

Name ID: 1
Date Period
2) 6<-5+-—
=20 -18 7‘16 —14 -12 -10
HY a1
7



Answers to W4D3 (ID: 1)

1) x<-15: o+ 2)az-16: 4+ 1 @
-20 -18 -16 -14 -12 -20 -18 -16 -14 -12 -10
vzl 1 g 4y v<3s: it
-2 ] 2 4 [ 8 30 32 34 36 38
5) p=-3: Py 6) m>-1: o
-8 6 4 -2 0 -4 -2 0 2 4 6
7)) n<l: St 8) n<3: O+
- -4 -2 0 2 4 -4 =2 0 2 4
9) x<7: & 10) { Allreal numbers. } ;|
02 4 0§ 8 1 0 5 10
11) No solution. : et 12) x=1: —®
4 6 8 10 12 14 -2 0 2 4 6 8
13) n<3: ot Hn>1: v v v o
2 0 2 4 & % 4 2 0 2 4
15) n=-15: 16) x>-11: &

O
-18 -16 -14 -12 -10 -14 -12 -10 -3 -6



